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; Grey line: exponential fit Peak flux: 6.099+/- 0.039 c/s/cm? é
r Black line: power law + gauss fit Fluence : 48.69+/- 0.33 c/cm? T
B Dashed line: power law o ’ ’ |
B Duration: 19.80+/- 1.02s |
Best fit model: 2.
— Best fluence model: 2. —
- Best duration model: 2. -
: H | HHHW MR Ml HH‘ ‘ I UMH JHH} MMMH H \H\‘ m ‘HH H‘HMH M ‘ W
; Exponential fit é
= Expon.time: 6.08+/- 0.05s (chi*red= 8.19) =
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; Power law fit é
E Power law index: -1.858+/- 0.009 (chi*-red= 1.23) =
- i | it bt bt ™ bbbt ot b il 1T
S R HWHHHHﬁﬁ*ﬁﬁﬁﬂﬂi% ﬁ*W%HMWH I P P
i I T T T T T T T T T I T T T T T T T T T I T i
—  Power law fit plus Gaussian (st.dev.= 7.53+/- 0.93 s, fracgs= 0.02+/- 0.00) =
- Power law index: -1.845+/- 0.014 (chi*-red= 1.21) 7
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